Code : 051401

B.Tech 4th Semester Examination, 2017
Object Oriented Porp.

Time : 3 hours Full Marks - 70

Instructions :
(i) There are Nine Questions in this Paper.
(i)  Attempt Five questions in all,
(i) Question No. 1 is Compulsory.
(iv)  All questions carry equal marks. .
o 1. Answer an- Seven questions from FPis:
} ‘ K;)/?é:dress ofa van;éblc lcmb of type floatis
| (A) *temp

\BY &temp
(C) Float & témp_

)

(D) float 1emp3c
Me process of building new classes from existing one is
called : '.

(A) Polymorphism
PT.O.
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(B) Structure

lWi‘crilmwc

(DY Cascading

() Anarray element is accessed using
- )
(AYa FIFO approach

Q‘B,}afn index number
(Cy the operator
(D} amember name

(d) If there is a pointer p to object of a base class and 1t

contains the address of an object of aderived class and

both ciasses contain a virtual member function abc ().

then the statement p->abc(); will cause the version of

abc () inthe _ _classtobe executed.

(A) BaseClass
( erived class
(C) Produces compile time error

(D) produces runtime €rmor

(9(( yerloading a postfix increment operator by means ofa

x .
member lunction tiakes

(A) noargument

Code : 051401 2

{%.mu argument

(C) twoargument

(1) three arpument

M'h;;l will be the output of the followang program )

finclude-iostream.h>
void main{ )}

float x=5. y=2: int result;

result=x%y; cout--<result;}

{AY |
B) 1.0

(C) Error message

D) 2.5

\Wer functions, when defined within the class

gpecification:

‘@J/Me always inline

(B) arerotinline

(C) are inline by default, unless they are too bhig ortoo

complicated.

are not inline by default

2051401
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(b) What 15 a default argument and constant argument?

Explain each withanexample.

3 Jé] Eltplain apure virtual function with an example.

&M/ﬁn exception is caused by

K}V a runtime error
X{) What is function template? Give an example of it. Also

differentiate between template class and class template.
does inherl tance influences the working of constructor

4. Aa) How
and destructor ? Give the following set of definitions

(B) asyntax error
(C) aprobiem in the operating systetn
(D1 ahardware problem

which of the following expressions is illegal?

(A) (106). class x { }.

B (false && true)
() bool (x)= {bool) 10:

class y: public X
)

el floaty=12.67: class z: publicy { };
fgi‘k'fﬂ code ﬁ‘ﬂgﬂlﬁm? 7 Dbj: "

What is the output 0
(b) Write a program yfread three nmnbersi,y and zand

(@

N el =2 while(—HSS)

Coch:”

- 051401

overloading

evaluate R givenby R=2/(x-Y)

=5
wu;ﬁg—;c,f; Use exception handling to throw an exception in case
(A} iZ division by zerois attempted.
(B 24 (‘;@/E)Cplaiﬂﬂ!euseofﬁ]ispoimcrwiman example. Explain
() 6 what happens when a pointer is deleted twice.
D)3 N o ion in OPeTaLOr (b) What is downcast? Explain why and whendo Wc‘ use
5. (a) Explaintse impartance of using friend fun - protected instead or private.
witf the help of an examPIc ode - 051401 5 PTO.
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6., (w Whatis a friend function? Explain the advantages of using

friend classes.

rt of your

(b What is C-string? Give an example it suppo
-string.

answer. Al :
so explain the problem associated With €

9. Differentiate the following
(a) Pointer to constant vs pointer constant
(b) Inspector vs Mutator
(€) Vectors vs Deqtieues

(d) Realloc () vs free ()

L2 F

7. @ Whatisa letairmr class? What are the types of container ‘
classcS?

(b) Create an array that can hold ten Integers; and get input
those values on the screen, and then

form user. Display
Search though the array,

prompt the user for an integer.
“ and count the number of imes the item IS found.

a variable in
esin CH++.

\_& (a) Whatisa variabl
C++ Also explaindifferen

e? Write rules for defining
 types of storage class

o What are its advantages ? How

f’j What is encapsulation

can encapsulation arc enforced in C++?
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